NI=FpyIORJINIT—
. CHUCK Soft Jaws for Power Chuck

SJ series

XSUVU—X(FEREY T Y 3—SBYU—XDEFILFITVIRTHD.
SBYU—XEFTEEBRENDHDET,
CARRALERDNCETVE LD B DEHEXEFT TOBLEDL BT L,
%SJ series is a model change type of existing SB series and it is fully
compatible with SB series.
If you have any guestions, please consult us.

BIX KR Description of Model
SJ06A1-80

Ta—DEEERT. FREII-ICIRREHIELA,
Total jaw height. The height of standard jaw is not displayed.
—— 1y rDEERYT., - =345 Q@UNH) T=24 Q2YTNE) Q=44 (4YH)
Number of jaws for 1 set - =3 pcs. (for 3 jaws) T = 2 pcs. (for 2 jaws) Q = 4 pcs. (for 4 jaws)

tL—aEyFERT, 1=1.5mmX60" .2=3mmX60’
Serration pitch  1=1.5mmX60", 2=3mmX60"

— IR B ERT,

A=UEWEL.B=IUEWHY L =BFEE N=3HE

C=Ya—BRN Y FRY (RAF vy IR TREDHE)
224" = 15mm. 225" = 18mm 12" Fr v =38mm 15" F+ v ¥ = 43mm

D=DLH

Form and characteristic

A = Non cut of crest B = Cut of crest L = Light weight N = New type

C = Bolt spacing classification (In case spacing is different at same chuck dia.)
Hollow 4" = 15mm, hollow 5" = 18mm 12" chuck = 38mm 15" chuck = 43mm

D = for DL series

Fr v YA X %KY, Chuck sizes
INT—F vy U T a—%5T, Power chuck soft jaw

W Y7 bhYa—3MAxKR Combination of Soft Jaws

BEMRX  SmMEX BIOHPERF v v IR BOPZETF v v IR
Standard jaw High jaw Adaptive closed centre chuck Adaptive open centre chuck
SJ04B1 SJO04A1-036 SJO4A1-048 N-04.AS04.NLO4.NRCO4
SJO4A1T |SJO4A1T0O48 NTO4.ATO4
SJO4N1 SJO4N1-036 SJO4N1-048 B-204
SJO4ANTT BT204
SJO5B1 SJO5A1-038 SJO5AT-053 N-05
SJO5ATT |SJOBAT1TO53 NTO5
SJO5N1 SJO5N1-038 SJO5N1-053 B-205
SJOSNTT BT205
SJO6B1 SJOBA1-066 N-06.NLOB.ASO6.NRCO6 |BR0O6.BB206
SJOBATT |SJOBA1TO6B6 NTOB.NLTOB.ATO6
SJOBC1 UVET60K
SJ06D1 DL206
SJOBLTA BS306.B-206,HOH-206.BL206
SJOBL1T BT206
SJ08B1 SJOBA1-056 SJOBAT-076 DL208.N-08,NL08,AS08.NRCO8 | BRO8.BB208.BS308.B-208.HOH-208.BL208
SJO8B1Q |SJOBB1Q-76 HW-08
SJOBATT | SJOBATTOS6 SJOBATTO76 NTO8.NLTO8.ATO8 BT208
SJ10A1 SJ10A1-056 SJ10A1-080 SJ10AT-116 |NLTO.ASTO.NRC10
S SJ10B1 SJT0A1-056 SJTOAT-080 SJTOAT-116|N-10 BR10.BB210,BS310,B-210.BL210.HOH-10K, UVEROOK, UVE250K
5 a5 SJ10A2Q | SJ10A2Q080 HW-10.HW-12
glﬁ': SJT0ATT |SJTOATTO80 NTT1O0.NLT10.AT10 BT210
= SJ10D1 DL210
ST SB12A1 SJT12A1-090 DL212.N-12.NL12 HOH-12K
58‘ sd12C1 UVEBI5K
g_ SJ12A1T |SJT12A1TO90 NLT12
a SJ12N1 SJ12N1-090 BB212.B-212.BL212
SJ12NTT BT212.BLT212
SJ15C1 SJ156C1-110 B-15.B-18,HOH-15K
SJ16A2 UVE400K
SJ15A2Q HW-15
SJ15N1 SJT1B6N1-110 N-15.N-18 B-215
SJ18A2 SJ18A2-110 N-21.N-24 B-21.B-24
SBO6BB SBO6BB-040 QB306
SBO8BB | SBO8BB-056 QB308
SB10BB SB10BB-060 QB310
SB12BB | SB12BB-070 QB312
SBWOB PW-06
SBW0O8 PW-08
SBW10 PW-10
SBW12 PW-12
SBW15 PW-15




WiEEY T b a—HEGER
Combination Table for Standard Soft Jaws

W SMERAR

Interchangeable High jaws with standard jaws

(ditagawa

FryIBK VI a-8K RSRILS Fry IR VI -8 WmERIVE BREMEBN =RME
Chuck Soft jaw Mountingbolt ~ Chuck Soft jaw  Mounting bolt Standard jaw High jaw
BRO6 SJ0OBB1 M10x25 | NLO4 5J04B1 M8x22 SJ04C1 SJ04C1-036 SJ04C1-048
BRO8 SJO8B1 |M12x30 |NLOB SJOBBT | M10x30 SJO4C1T SJ04C1T048
BR10 SJ10B1 M12x30 | NLO8 SJ08B1 M10X35 SJ04B1 SJO4A1-036 SJ04A1-048
NL1O SJ10A1 M12Xx35 SJO4ATT SJO4A1T0O48
B-204 SJOAN1 M8x20 |NL12 SB12A1 [M14Xx45 SJO4N1 SJO4N1-036 SJ04N1-048
B-205 SJOBNI1 M8x20
B-206 SJOBLTA |[M10X25 |NTO4 SJO4ATT | MBx22 SJO5C1 SJO5C1-038 SJOBC1-053
B-208 SJ08B1 M10x30 | NTO5 SJOBATT | M8x22 SJOSCI1T SJO5C1TO53
B-210 SJ10B1 M12x30 | NLTO6 SJOBATT [MT10X30 SJO5B1 SJOBAT1-038 SJOBA1-053
B-212 SJ12N1 M16x40 | NLTO8 SJOBAITT | M12x35 SJOBATT SJO5AT1TO53
B-215 SJT1BNI1 M20x55 |NLT10 SJ10ATT [M12X35 SJO5N1 SJOB5N1-038 SJOBN1-053
NLT12 SJ12AT1T [ M14x45
B-15 SJ15C1 M20x60 SJO6B1 SJOBA1-066
B-18 SJ15C1T M20x60 | HW-08 SJ08B1Q [M10Xx25 SJOBATT SBOBATTO6B6
B-21 SJ18A2 | M20x60 |HW-10 SJ10A2Q | M12x35
B-24 SJ18A2 |M20x60 |HW-12 SJ10A2Q | M12x35 SJO8B1 SJOBA1-056 SJOBA1-076
HW-15 SJ15A2Q [ M14X40 SJ08B1Q SJO8B1Q-76
BB206 SJOBB1 | M10x25 SJOBATT SJOBA1TO56 SJOBATTO76
BB208 SJ08B1 M12Xx30 [UVE160K | SJOBC1 M12x30
BB210 SJ10B1 M12x30 | UVE200K | SJ10B1 M12X30 SJ10B1 (A1) SJ10AT1-056 SJT0A1-080 SJT10A1-116
BB212 SJ12NI1 M16x35 [UVE250K | SJ10B1 M12Xx30 SJ10A2Q SJ10A2Q080
UVE315K | SJ12C1 M14x35 SJT10A2 SB10A2-080
BS306 SJOBLTA | M10x25 |UVE400K | SJTBA2 | M20x45 SJT10ATT SJT0ATTO80
BS308 SJO8B1 |M10x30 | UVES00AR | UVES00AR | M20X45
BS310 SJ10B1 M12X30 SB12A1 SJ12A1-090
UB450K | UB450 SJ12A1T SJ12A1T0O90
BL206 SJOBLTA | M10X25 |UBBB0OK | UB560K SJ12N1 SJ12N1-090
BL208 SJ08B1 M10x30 |UBB30K |UB710
BL210 SJ10B1 M12x30 [UB710K |UB710 SJ15A1 SJ15A1-110
BL212 SJ12N1 M16X40 SJ15C1 SJ16C1-110
DL206 SJ06D1 M10X25 SJ15N1 SJ1BN1-110
HOH-206 |SJOBLTA [M10x25 | DL208 5J08B1 M12Xx30
HOH-208 | SJO8B1 M10x30 |DL210 SJ10D1 M14 x40 SJ18A2 | SJ18A2-110
HOH-TOK | SJ10B1 M12x35 [DL212 SB12AT [M14Xx40
HOH-12K | SB12A1T |M12X30 SJ24A2 | SJ24A2-130
HOH-15K | SJ15C1 M20x55 | PW-06 SBWO6 M10X16
PW-08 SBWO8 M12x20 SBO6BB SBO6BB-040
QB306 SBO6BB |- PW-10 SBW10 M16Xx25 SBO8BB SB0O8BB-056
QB308 SBO8BB |- PW-12 SBW12 M16X25 SB10BB SB10BB-060
QB310 SB10BB |- PW-15 SBW15 M20Xx 30 SB12BB SB12BB-070
QB312 SB12BB |-
AS04 SJ04B1 M8x22
BT204 SJO4NTT | MB8X20 | ASOB SJ06B1 M10X30
BT205 SJOBNITT | MB8Xx20 | ASO8 SJ08B1 M10x35
BT206 SJOBLTT |[M10x25 |AS10 SJ10A1 M12X35
BT208 SJOBATT [M12X30
BT210 SJT0ATT |[M12X30 | ATO4 SJO4ATT | MB8x22
BT212 SJ12N1T | M16X40 | ATOB SJOBATT [MT10X30
ATO8 SJOBAITT | M12x35
N-04 SJ04B1 M8x22 |ATI10 SJ10ATT [M12X35
N-05 SJOBB1 M8x22
N-06 SJO6BB1 M10x30 | NRCO4 SJ04B1 M8Xx22
N-08 SJ08B1 M10x35 | NRCO6 SJO6B1 M10X30
N-10 SJ10B1 M12x35 | NRCO8 5J08B1 M10X35
N-12 SB12A1 |[M14x45 |[NRC10 SJ10B1 M12x35
N-15 SJT1BNI1 M20Xx55
N-18 SJTBNI1 M20x55
N-21 SJ18A2 |M20x60
N-24 SJ18A2 | M20x60




2Z[K1 Ref. DWG. 1 2Z[K?2 Ref. DWG. 2 2Z[K3 Ref. DWG. 3
120° TRD/Ny F2 T8 ERFELE
- A i Following hatching part not to be formed.
= "Lﬁi ke b
5-2 S-1 52 S /—Tc‘n
‘ . 56,57, 58 1 ‘ . ‘
| J T AR S, e 2
b mT Pt b oL
s-10 37127("j s-10] 1 o é%/ o JJ-E b
59| \tL->s> S4 59 S5 54 W2 2 i S
Serration S-12 5 i
tL—> 3> Serration
B Y7 Y a—3iE&R Dimensions

éjo?ttl‘gv?/ ?%F?E : : : Sl2 S14 S5 g tion pitch R%?
SJ04C1 48 19 23 8 3 8 15 25 11 6.6 15 M6 6 1.5x60° 2
SJ04C1-036 48 19 36 8 8 8 15 25 11 6.6 28 M6 1.5x60° 1
SJ04C1-048 48 19 48 8 3 8 15 25 11 6.6 40 M6 1.5%x60° 1
SJo4Cc1T 48 19 23 8 3 8 15 25 11 6.6 15 M6 1.5X60° 1
SJ04C1T048 48 19 48 8 3 8 15 25 11 6.6 40 M6 1.5X60° 1
SJ04B1 55 26 25 10 4 13 14 28 135 8.5 16 M8 3 13 1.56Xx60° 2
SJ04A1-036 55 23 36 10 4 13 14 28 135 85 27 M8 1.5%x60° 1
SJ04A1-048 55 23 48 10 4 13 14 28 135 85 39 M8 1.5X60° 1
SJO4A1T 55 23 25 10 4 13 14 28 135 85 16 M8 1.5X60° 1
SJO4A1TO48 55 26 48 10 4 118 14 28 185 8.5 36 M8 1.5x60° 1
SJO4N1 495 28 23 10 4 10 14 255 13b 85 145 M8 4 1.5x60° 2
SJO4N1T 495 28 23 10 4 10 14 255 135b 85 145 M8 1.5X60° 1
SJ04N1-036 495 283 36 10 4 10 14 255 135 85 275 M8 1.5X60° 1
SJ04N1-048 495 23 48 10 4 10 14 256 135 8.5 8915 M8 1.5x60° 1
SJOBC1 57 23 31 10 3 10 18 29 135 85 22 M8 12 1.5x60° 2
SJOBC1-038 57 23 38 10 3 10 18 29 135 85 29 M8 1.5X60° 1
SJOBC1-053 57 23 53 10 3 10 18 29 135 85 44 M8 1.5X60° 1
SJOBCI1T 57 26 €l 10 8 10 18 29 185 8.5 22 M8 1.5x60° 1
SJOBC1TO53 57 23 53 10 3 10 18 29 135 85 44 M8 1.5x60° 1
SJOBB1 62 23 27 10 4 14 19 29 135 85 18 M8 12 14 15x60° 2
SJOBA1-038 62 23 38 10 4 14 19 29 135 85 29 M8 1.5X60° 1
SJO5A1-053 62 26 58 10 4 14 19 29 135 8.5 44 M8 1.5x60° 1
SJOBATT 62 23 27 10 4 14 19 29 135 85 18 M8 1.5%x60° 1
SJOBATTO53 62 23 53 10 4 14 19 29 135 85 44 M8 1.5X60° 1
SJOBN1 54 23 25 10 4 12 14 28 135 85 16.5 M8 5 1.5x60° 2
SJOSN1T 54 26 25 10 4 12 14 28 135 8.5 16.5 M8 1.5x60° 1
SJOBN1-038 54 23 38 10 4 12 14 28 135 85 295 M8 1.5%x60° 1
SJOBN1-053 54 23 53 10 4 12 14 28 135 85 445 M8 1.5X60° 1
SJO6B1 72 31 32 12 5 15 20 37 17 11 20 M10 12 15 15x60° 2
SJOBA1-066 72 Sl 66 12 5 15 20 37 17 11 54 M10 1.5x60° 1
SJOBATT 72 31 32 12 5 15 20 37 17 11 20 M10 1.5%x60° 1
SJOBAT1TOB6 72 31 66 12 5 15 20 37 17 11 54 M10 1.5X60° 1
SJ0BC1 765 40 37 14 5 15 25 36.5 19 13 22 M12 1.5X60° 1
SJO6D1 72 Sl 32 12 9 22 20 30 17 11 20 M10 6 15 1.5X60° 2
SJOBLTA 66 26 28 12 5 12 20 34 17 11 16 M10 5 12 1.5x60° 2
SJOBL1T 66 26 28 12 5 12 20 34 17 11 16 M10 1.5X60° 1
SJO8B1 95 35 38 14 5 24 25 46 19 13 23 M12 12 20 1.bx60° 2
SJOBA1-056 95 85 56 14 9 24 25 46 19 18 41 M12 1.5x60° 1
SJO8A1-076 95 35 76 14 5 24 25 46 19 13 61 M12 1.5%x60° 1
SJO8B1Q 90 31 38 12 5 24 20 46 17 11 26 M10 16 24 15x60° 2
SJ08B1Q-76 90 31 76 12 5 24 20 46 17 11 64 M10 16 24 156x60° 2
SJOBATT 95 85 38 14 9 24 25 46 19 13 23 M12 1.5x60° 1
SJOBA1TO56 95 35 56 14 5 24 25 46 19 13 41 M12 1.5%x60° 1
SJOBA1TO76 95 35 76 14 5 24 25 46 19 13 61 M12 1.5X60° 1
UuB450 165 62 66 255 8 37 43 85 32 21 43 M20 3.0X60° 1
UB560K 180 65 692 255 8 395 60 80.5 32 21 453 M20 3.0x60° 1
uB710 2095 7b 80 30 9 40 60 1095 39 26 55 M24 3.0x60° 1




SEM[1. 2. 4 EL—a VBl
£ZH4 Ref. DWG. 4 £ZH5 Ref. DWG. 5 Ref. DWG. 1, 2, 4 Serration
A o ..
— @ 49000000 [ i 2 ngms Pitcht.5
IS/ \ ] 2
Y HE Y P ::)E 1\)
S-1 S-1 “N7 60°

_ 6,57, S8 = -6! $1 ;SVB 8:2 apprimaTgOO.'Z%s £y F3 Pitch3

& hj[d P w =lIHE ! ﬁ

) \ n (})L (/')L | u o “.’1 | of o L\_/

$-10 oz llst5 SR "’ﬁ ST N

$-9] \tL—>s> §-4 S0 =12
Serration 9 (
approximate 0.35
B V7 bYa—1iER Dimensions

Sont e TeRE S i : S8 810 SI11 Sl12 S14 S5 s:;r_a{mpmh ol
SJ10B1 110 40 42 16 5 30 30 50 19 13 27 M12 15 20 1.56x60° 2
SJ10A1 110 40 42 16 5 30 30 50 19 13 27  M12 15x60° 1
SJT0A1-056 110 40 56 16 5 30 30 50 19 13 41 M12 1.6x60° 1
SJT0A1-080 110 40 80 16 5 30 30 50 19 13 65 M12 1.656X60° 1
SJ10A1-118 110 40 116 16 5 30 30 50 19 13 101 M12 1.5x60° 1
SJ10A2Q 110 40 42 16 6 30 30 50 19 13 26 Ml12 3.0x60° 1
SJT0A2Q080 110 40 80 16 6 30 30 50 19 13 64 M12 3.0x60° 1
SJT10A2 110 40 42 16 6 30 30 50 19 13 26 M12 3.0x60° 1
SB10A2-080 110 40 80 16 6 30 30 50 19 13 65 M12 3.0x60° 1
SJ10A1T 110 40 42 16 5 30 30 50 19 13 27  M12 15x60° 1
SJTO0A1TO80 110 40 80 16 5 30 30 50 19 13 65 M12 1.6x60° 1
SJ10D1 101,56 45 45 18 5 22.5 30 49 22 15 25 M14 15 175 1.5X60° 2
SB12A1 129 50 50 18 5 39 30 60 22 15 30 M14 1.5x60° 1
SJ12A1-090 129 50 90 18 5 39 30 60 22 15 70 M14 1.5x60° 1
SJ12C1 129 50 50 18 5 32 38 59 22 15 35 M14 1.6x60° 1
SJT12A1T 129 50 50 18 5 39 30 60 22 15 30 M14 1.656X60° 1
SJT12A1T090 129 50 90 18 5 39 30 60 22 15 70 M14 1.6x60° 1
SJ12N1 111 50 50 21 4 21 30 60 25 17 33 M16 1.5x60° 1
SJ12N1-090 111 50 90 21 4 21 30 60 25 17 73 M16 1.6x60° 1
SJ12N1T 111 50 50 21 4 21 30 60 25 17 33 M16 6 15x60° 1
SJ16C1 165 62 66 22 8 37 43 85 32 21 42 M20 6 15xX60° 4
SJ15C1-110 165 62 110 22 8 37 43 85 32 21 86 M20 15x60° 4
SJ156A1 156 62 70 22 8 36 60 60 32 21 45 M20 1.6x60° 1
SJ1BA1-110 156 62 110 22 8 36 60 60 32 21 85 M20 1.6X60° 1
SJ1BA2 156 62 70 22 9 36 60 60 32 21 45 M20 3.0x60° 1
SJ15A2Q 129 50 50 18 6 32 38 59 22 15 34 M4 6 3.0x60° 1
SJ16C1T 165 62 66 22 8 37 43 85 32 21 42 M20 1.6x60° 4
SJT15N1 135 50 60 255 5 26 43 66 32 21 39 M20 1.6X60° 1
SJ1BN1-110 135 50 110 255 5 26 43 66 32 21 89 M20 1.6x60° 1
UVES00AR 210 65 100 25 9 40 60 110 32 21 75  M20 3.0x60° 1
SJ18A2 180 65 70 25 9 40 60 80 32 21 45 M20 3.0x60° 1
SJ18A2-110 180 65 110 25 g 40 60 80 32 21 85 M20 3.0x60° 1
SJ24A2 210 75 90 25 9 40 80 90 32 21 65 M20 3.0x60° 1
SJ24A2-130 210 75 130 25 9 40 80 90 32 21 105 M20 3.0x60° 1
SBO6BB 90 32 30 24 54 36 68 5 3
SB0O6BB-040 90 32 40 24 54 36 68 5 3
SBO8BB 106 37 38 28 64 42 76 14 3
SBO8BB-056 106 37 56 28 64 42 76 14 3
SB10BB 125 42 42 31 76 49 88 26 3
SB10BB-060 125 42 60 31 76 49 88 26 3
SB12BB 139 42 50 34 90 49 92 30 3
SB12BB-070 139 42 70 34 Q0 49 92 30 3
PW-06 675 508 51 38.07 33 15 2936 2314 17 11 424  MI10 8 120° 5
PW-08 74 57 5747 4445 33 15 34.14 2486 20 13.5 47 M12 41 [0} 5
PW-10 895 70.1 702 571 3.3 19 4445 2605 25 17 59 M16 5
PW-12 1085 70.1 702 57.1 83 19 4445 4505 25 17 59 MI16 5
PW-15 140 762 765 66.62 33 239 bB398 6212 32 21 612 M20 5






